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I. The Purposes and Limits of Punishment

I. Intentional TortsI. Intentional Tortstc  \l 2 "I. Intentional Torts"
A. Purposes of punishment:
1. Deterrence – general (society) and specific (deter specific offenders)

2. Retribution

3. Incapacitation – people in prison can’t commit crimes against society at large

4. Rehabilitation

1. Deterrence:

a. Assumes that individual makes cost-benefit analysis between behavior that conforms with the law and behavior that doesn’t

b. Assumes an alternative to crime exists

2. Retribution Theory:

a. Notion of “just desserts”

b. Affirms victim’s inherent worth – victim’s value was diminished by the crime, and punishing the criminal demonstrates that victim is of at least equal worth

c. Prevents vigilante justice by satisfying victim’s retributive impulse

3. Incapacitation:

a. Goal is to take the offender out of circulation

b. Unlike deterrence, no assumptions are made about human nature – while criminals are in jail, they won’t be committing crimes in society at large

c. Problems with incapacitation:

i. Doesn’t address what caused problem in the first place

ii. Can turn relatively harmless criminals into hardened criminals: “crime school”

4. Rehabilitation:

a. Goal is to return offender to society in a better state

b. Focus is on the individual – the offense is not important
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B. Limitations on punishment:

1. State bears burden of proof
2. Standard of proof – must prove guilty beyond a reasonable doubt
3. Accused entitled to judgment by a jury of his peers
i. Judge makes legal determinations and jury makes factual determinations – laypeople examining facts serves as a check on state’s power

4. Criminal justice system provides counsel to represent the accused against the power of the state

C. Discretion exercised in:

1. How individual is prosecuted – who gets charged, with what charges, who can plea bargain

2. Sentencing (by judge) – what punishment to impose if there are no mandatory sentences

3. Policing strategies – who they choose to arrest, where they choose to patrol

4. Parole – discretion about when somebody can be released and under what circumstances

5. Jury – they get to decide the facts, and can choose whether to follow judge’s instructions

II. Defining Culpability
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A. Elements of a crime:

1. Actus reus (the act)

2. Mens rea (the guilty mind – intent)

3. Circumstances

4. Causation

5. Result

6. Defenses can be presented negating a crime even if the other elements are met

7. Not every crime needs to have all the elements contained in the formula, but act requirement is the fundamental principle to which the criminal justice system seeks to adhere
1. Actus reus consists of:

a. Past

b. Voluntary

c. Conduct

d. Committed within jurisdiction

e. Specified

f. In advance

g. By statute

2. Mens rea

a. Determines degree of certain offenses, particularly in homicide

b. Transferred intent allowed – if you mean to shoot X but shoot Y instead, you can still be charged with murder

3. Circumstances

a. Can be enhancements – i.e. hate crime enhancements, enhancements for selling drugs within a certain distance of a school

5. Result

a. Not all crimes require an ultimate harm. Forgery is a crime regardless of whether check with forged signature is ever cashed and regardless of whether forgery fools anybody.

B. Actus reus – Culpable Conduct

1. Voluntariness

a. In the vast majority of cases, there must be an act

b. Intent alone, with no unlawful act, is insufficient

i. Proctor v. State – intent to sell alcohol alone is insufficient

c. Involuntary behavior not punishable

i. Martin v. State – for public drunkenness statute, must voluntarily appear in public (in Martin, police officers brought defendant to public highway, then arrested him)

ii. People v. Grant – If D attacked officer while in a state of automatism (meaning the attack was involuntary), he must be found not guilty

iii. If D recklessly brings on involuntary criminal behavior (i.e. if Grant caused his psychomotor epilepsy by drinking), can be found guilty for voluntarily bringing on the act

d. Policy arguments behind act requirement:

i. Limits state intrusion into protected activities (i.e. privacy issues)

ii. Proof problems – makes D prove he didn’t have unlawful intent

iii. Lack of harm – with intent only, there is no victim

iv. Notice issues – criminal law attempts to provide notice to citizens about when they can engage in certain conduct and when they have crossed the line

e. There are exceptions to the act requirement – i.e. possession of drugs with intent to distribute

2. Omissions

a. Four categories of where duty of care exists (Jones v. United States):

i. Statutory duty

ii. Status-based duty (i.e. parent to child, ship’s master to crew and passengers)

iii. Contractual duty

iv. Voluntarily assumed care of helpless person and secluded him so as to prevent others from rendering aid

b. Policy reasons behind the four categories:

i. Gives notice to individual if he has a legal duty

ii. Courts know who should be charged

c. No act requirement where duty exists and individual fails to act in accordance with that duty

d. Mens rea requirement: Must show at least negligence for omission to constitute a crime

3. Status Offenses

a. Cannot punish status without an act

i. Robinson v. California: Use of drugs is voluntary, while becoming an addict is involuntary. Cannot punish somebody merely for being an addict.

ii. Pottinger v. Miami: City’s conduct unconstitutional – arresting homeless for “involuntary life-sustaining activities” in public (i.e. eating, sitting) punishes them for the involuntary condition of being homeless

b. Status does not remove culpability for illegal act

i. Powell v. Texas: D argued that he could not be convicted under public drunkenness statute because his status as alcoholic made appearing in public drunk an involuntary act. Supreme Court rejected his argument because Texas was not punishing status, but an act (appearing in public while drunk)

ii. Does not overturn Robinson; simply suggests that you can punish certain activities that take place. Individual still cannot be punished for status of being alcoholic.

C. Limitations on punishment of culpable conduct

1. Proportionality

a. Three part proportionality test (Solem v. Helm):

i. Gravity of offense

ii. Sentences imposed on other criminals in same jurisdiction

iii. Sentences imposed for committing the same crime in other jurisdictions

b. Harmelin v. Michigan left status of Solem proportionality principle in doubt

i. Kennedy plurality found that second and third prongs of Solem test are only evaluated if punishment is disproportionate to the crime (i.e. first prong violated)

2. Legality

a. Courts should not create new crimes not provided in common law or statute because those crimes can only operate prospectively (Keeler)

b. Policy reasons to disallow retroactive laws:

i. No fair notice

ii. Constitutional issues: violates due process of law

iii. Discrimination problems – will be applied arbitrarily

c. How courts interpret statutes to determine legality:

i. Legislative intent

3. Specificity

a. Overbroad statutes can be void for vagueness (Ricks, Papachristou)

b. Reasons to find statute void for vagueness:

i. Terms themselves problematic – vastly differing interpretations

ii. Due process concerns – no fair warning, arbitrary decision-making

iii. Mens rea – if defendant does not know that he is doing something illegal, he cannot have a “guilty mind”

D. Mens Rea – The Guilty Mind

1. Strict liability

a. In some cases intent is not required – act itself is sufficient:

i. when public interest in safety is paramount (Balint; illegal narcotics – Park; purity of foods)

ii. when legislative intent is not for a knowledge/intent requirement

iii. the idea that individuals engaged in the activities subject to strict liability have an extra duty of care is implicit

b. Strict liability does not violate due process: If activity you are engaged in presents high risk to the public, that in itself provides notice that you should take precautions

c. Example of strict liability offense: speeding

d. Possible exceptions:
i. Powerlessness (Park: if greater efforts could not possibly have stopped health/safety violation)

ii. Malum prohibitum crimes (crimes which are immoral only because society defines them as crimes as opposed to crimes which are immoral in and of themselves, such as murder)

iii. Interpretation would unbalance the scales of justice (Morissette; there was no intent provision in statute, but the crime D was accused of was theft; state’s interpretation created a class of theft felony without the intent provision)

2. Categories of culpability (CB 232)
a. Purposely: D acts with the intention of engaging in conduct or causing the result

b. Knowingly: D is aware that his conduct is of that nature or that it is practically certain his conduct will cause such a result

c. Recklessly: D consciously disregards a substantial risk that material elements exist or will result from his conduct. D’s disregard involves gross deviation from law abiding citizen’s standard of conduct.

d. Negligently: D should be aware of substantial and unjustifiable risk that material element exists or will result from his conduct. D’s failure to perceive risk is a gross deviation from reasonable person’s standard of care in situation.

e. Culpable because engaged in other culpable conduct: Rejected in Faulkner (even though D was stealing rum, he could not foresee that his action would cause ship to burn)

f. Specific intent: Purposeful and knowing  General intent: recklessness and negligence

b.
Knowingly:

i. Deliberately avoiding knowledge not a defense against this mental state (i.e. you don’t look in a helicopter to see if anybody is in it before you blow it up)

c. Recklessly:
i. Employs an objective standard – anyone should know that activity creates a substantial risk

ii. Hypo: What if you look (as a precaution) before dropping a potted plant from a 12-story building? It is still reckless – you should know somebody could walk underneath in time between you drop the pot and it hits the ground.

d. Negligence:
i. We have different categories of reasonableness for negligence in a criminal context – the reasonable conduct of a doctor is different than that of a night watchman or police officer.

3. Mistake

a. No intent requirement in a statute

i. State v. Guest: Court inferred it anyway, ruling that statute would be unconstitutional without intent requirement, and when there is doubt statutes should be read as constitutional

ii. Other jurisdictions: Guest court’s view not traditional view of carnal knowledge. In most jurisdictions, statutory rape is a strict liability offense – only age is relevant, not girl’s appearance.

iii. Justification for designating these offenses to be strict liability (specifically for statutory rape):

a. Society’s goal of protecting children.

b. Super-deterrent: Puts burden on potential defendants to act responsibly.

c. Avoids ease of defense: D could just claim he didn’t know her age.

b. Multiple clauses within a statute

i. Nofziger (lobbying case): Court found it inconceivable that Congress would make such an important element of the crime a strict liability offense.

ii. Critical legal studies: Holds that we can never believe law is neutral and objective. Majority decision in Nofziger was written by a Reagan appointee. Important to know who is making a decision and why.

c. Ignorance of the law is no excuse
i. US v. Baker: Baker was purposely selling counterfeit watches, but claimed he didn’t know he was violating the criminal law. Court found him guilty – intent was to commit the act, not violate the law.

ii. For Baker’s claim to be valid, there would have to be statutory language saying D must be aware that action violates the criminal law. But that language is rarely a part of criminal statutes.

iii. Is belief in unconstitutionality of a law an excuse?
a. Cheek – D’s belief that tax laws were unconstitutional did not bear on culpability – he was aware of duty to pay but chose not to because he disagreed with them.

b. Scalia’s concurrence in Cheek: He disagreed with the court’s view that a general belief in the unconstitutionality of a provision would not also be a defense against a willfulness requirement. He felt that it should be a defense.

c. Court did not credit that there was an honest belief in unconstitutionality – they believed Cheek was making a political judgment. Disagreement with constitutionality doesn’t give you the defense – only a good faith belief that it is unconstitutional affords the defense.

iv. Policy reasons that “ignorance of the law is no excuse”:

a. Everybody would claim they didn’t know the law as a defense.

b. Encourages ignorance of the law, which is the opposite of what we want.

c. Put the onus on the individual to learn when she might run askew of the law.

v. Exception: Good faith efforts
a. Long v. State (bigamy): D took all necessary precautions – got a divorce and checked with legitimate attorney to make sure that he was complying with the law.

b. Commonwealth v. Twitchell (Christian Scientists who refused medical care for their son): Similar to Long in that D took all necessary precautions to make sure they were complying with the law. If reasonably person could conclude Attorney General’s statement protected D from manslaughter charge and D reasonably relied on church publications, they have an affirmative defense. In this case, defendants claimed official reliance.
c. Policy reasons: In these cases, policy reasons for the maxim “ignorance of the law is no excuse” don’t apply because D goes to great efforts to ascertain if he is complying with the law.

d. Not a mistake of fact defense: It carves out an exception to mistake of law in which it can be an affirmative defense – state excuses D under mistake of law because D took all steps necessary to try to learn the law.

vi. Exception: Complex laws (i.e. tax code)
a. Cheek v. United States: If D could prove that he didn’t think his wages were income, then government could not prove the requisite criminal mindset.

b. Complexity justifies exception: There is a concern about being too stringent in our belief that “ignorance of the law is no excuse” when dealing with something as complex as the tax code.

c. Laws not in line with moral norms justify exception: Criminal law is moralistic – usually we won’t break the law because we intuitively follow moral norms underlying it. Tax code is not in line with moral norms – somebody could easily be ignorant of a part of it or in good faith believe it didn’t apply to him.

vii. Exception: Conduct that is wholly passive and statute governing conduct not widely known.
a. Lambert v. California. Statute that criminalized felons being or staying in Los Angeles for more than 5 days without registering was found unconstitutional.

b. Statute wholly passive (all D has to do is be or stay in Los Angeles more than 5 days) and not widely known.
c. Court says it will adhere to the doctrine that ignorance of the law is no excuse unless nothing will trigger knowledge that behavior is wrong.

viii. Exception: If something that was legal before (i.e. buying newspapers) is suddenly made illegal, can argue that due process is violated.

d.    Mistake of fact is accepted as a defense:

i. State v. Guest: Did not know her age in statutory rape case – 1. he did not have a culpable mental state, and 2. they did not want it to be a strict liability offense.

ii. We don’t want to punish people without culpable mental state

iii. We want to protect people from power of the state.

iv. Exception: Strict liability statutes.
4. Capacity for Mens Rea

a. Insanity
i. Can introduce evidence about lack of D’s sanity during the guilt phase of trial – it is not limited to the sentencing phase (People v. Wetmore)

ii. If result of allowing evidence during guilt phase is acquittal, D can be civilly committed. However, should not convict D of offense for which he lacked requisite mental state. (Wetmore)

iii. Evidence of insanity can negate the specific intent of a crime and thus need not wait until sentencing phase – proof that a specific intent could not exist is the best possible evidence that it did not exist.

b. Voluntary intoxication
i. Voluntary intoxication can sometimes negate specific intent requirement (State v. Cameron)

ii. High standard is set to discourage the defense from being used – there is some possibility that if D can show he completely lacked control due to alcohol, then offense could be reduced

iii. Only reduces intent from specific to general: does not get D off the hook entirely. Specific intent crimes usually have lesser included offenses of which D can be convicted.

iv. Policy reasons that voluntary intoxication only reduces intent from specific to general:

a. Unjust to be completely acquitted just because of drunken state

b. Choosing to get drunk in itself can be negligent or reckless conduct.

III. Rape
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A. Conventional definition of rape:
1. Vaginal intercourse

a. This has expanded over time from only vaginal intercourse

2. By force or threat of force

a. force defined as a function of non-consent

b. Absence of consent is a crucial element of the offense

c. How lack of consent can be proven has been a controversy for the past 2 decades. Old standard was that woman must meet force with force – her testimony had to be corroborated, reflecting attitude that woman’s word alone is insufficient. With women’s movement, legislation swung the other way, increasing tension between protecting complainant and protecting constitutional rights of the accused.

B. Force, Nonconsent and Resistance (Actus Reus)
1. Resistance need not be shown (People v. Barnes)

a. Sufficient to show that act followed a use of force or fear of immediate and unlawful bodily injury, and was against the will of complainant.
b. Resistance now sufficient but not necessary evidence. Resistance is clear evidence of lack of consent, but if there isn’t resistance, other reasons can explain its absence.

c. Policy reasons:
i. Lack of physical resistance may indicate profound terror rather than consent

ii. Resisting sexual assault can further injure the victim

2. Force is an element of the offense

a. Force is the mirror-image of resistance. Can imply non-consent from force.

b. Policy reasons:

i. Force can capture conduct that resistance cannot – i.e. Roofies, involuntary intoxication

ii. Shows that accused had requisite mental element – without force, there are problems of proof and interpreting behavior

3. Fear is an element of the offense

a. Policy reasons:
i. Protection of accused: Not as good as force in protecting accused, but better than consent

ii. Fairness: Gives objective ways of potentially determining consent

4. Actions of both accused and complainant are considered by fact-finder trying to determine if crime of rape has occurred.

5. State v. Rusk
a. Court found enough factors present for jury to convict: he took her car keys, she commented in car “Will you rape me?”, she commented in apartment “Will you let me go without killing me if I do what you want?”, he lightly choked her

b. State required to prove two things in Maryland:

i. Force

ii. Lack of consent

c. Court’s analysis of force:
i. No particular amount required

ii. Can exist without violence

d. How do we determine if fear is reasonable?

i. Reasonable man standard: Would reasonable man perceive his actions as threatening?

ii. Reasonable woman standard: Using figures that discuss the frequency of rape – using complainant’s testimony, expert testimony

6. Defense: Honest and reasonable belief in consent.
a. People v. Mayberry: Negligence standard is applied – D should be able to know and a reasonable person should be able to know.

b. Attorney General argues that mistake of fact defense encourages women to resist, which could cause more harm to them. Court says that is an issue for the legislature.

7. Problems with a strict liability standard for rape:

a. Notice: May be danger in terms of notice issues for the D.

b. Hurts victim: Turns whole trial into an examination of the victim.

8. Other factors court might consider:

a. Evidence of a prior sexual relationship: Marriage may make it difficult for P to prove the case, and state often does not want to go into bedroom of a married couple. Some states have statutory exemptions that go so far as extending immunity from rape to a couple living together.

9. Estrich’s proposal.
a. She says we should focus on D’s conduct. She is concerned about focusing on woman’s conduct because it puts the woman on trial and not the man. As a result the trial focuses on the woman’s “innocence” rather than the man’s guilt.

b. She recommends a negligence standard, that a person should have known better.

10. Henderson’s response to Estrich.
a. Estrich’s proposal doesn’t shift focus from victim, because in order to examine D’s mens rea the state must examine victim’s actions. In fact, it may bring back the nightmare of “the survivor’s sexual history.”

11. Dripps’s Proposal.
a. Wants to replace crime of rape “with a variety of new statutory offenses that would… more justly define criminal liability for culpable conduct aimed at causing other individuals to engage in sexual acts.”

b. Focus of criminal law should be the behavior of D in committing “theft” of victim’s “property” right in sex and bodily integrity. He also believes that there is a greater social interest in freedom from violence than in protecting sexual autonomy.

c. Two new statutes replace rape laws: Sexually Motivated Assault (felony) and Sexual Expropriation (serious misdemeanor or minor felony)

i. Sexually motivated assault applies when accused purposely or knowingly puts victim in fear of violence for causing sexual submission

ii. Sexual appropriation applies when D completes sexual act over verbal protests of victim without purposely or knowingly putting her in fear of physical injury

d. Dripps asserts that criminal law should ignore other admittedly questionable sexual “transactions,” such as “complex relationships” where woman offers sex not for pleasure but for such considerations as fidelity, economic security, or friendship.

12. West’s response to Dripps’ proposal.
a. Argues that Dripps’s division of law into violent and nonviolent assumes that rape is only violent in the first case. She argues that in any case of illegitimately procured sex the intercourse itself is necessarily a violent act.

b. She challenges Dripps’s notion of sex as commodity. She says that to carry out its full implications, the law should grant damage remedies to women whose offers of sex do not receive full bargained-for consideration.

IV. Homicide
A. Involuntary Manslaughter
1. Definition (Kansas statute):

a. Act: Unintentional killing

b. Circumstances: In commission of, or attempt to commit, or flight from any felony, other than an inherently dangerous felony that is enacted for the protection of human life or safety or a misdemeanor that is enacted for the protection of human life and safety

c. Result: Killing

2. State v. Williams
a. Washington involuntary manslaughter statute requires mens rea of ordinary negligence. Two Native Americans are charged with involuntary manslaughter for not bringing baby to doctor when he had a toothache  that turned out to be an abscessed tooth that became gangrenous

b. Arguments for negligence:

i. Should have taken him to a doctor – if so, he would have lived

ii. They had taken him to a doctor in the past, so they knew location/availability of doctors

c. Arguments against negligence:

i. They were treating his medical condition (aspirin) – swelling would go up and down, suggesting that it was working

ii. Reasonable Native American in Washington state could fear that child would be taken away by child services – high percentage of Native American children taken away from their families

d. Court imposes an objective standard – rules that parents were negligent

e. Goals of punishment served in this case:

i. Deterrence – you’re criminally liable if you don’t take care of your children

ii. Retributivism – you are punished if you don’t take due care

3. How religious issues are dealt with in the case of involuntary manslaughter – i.e. Jehovah’s Witnesses, whose religion prohibits transfusion. Child needs it to survive. Parents refuse to allow transfusion.

a. Arguments for subjective standard

i. Freedom of religion (First Amendment issue)

ii. Family privacy issue

iii. Many religions hold soul more important than body

b. Arguments for objective standard

i. Criminal law should not bow to individual religious beliefs that might cause harm of this magnitude

ii. Child cannot speak for himself

iii. Would have to create a new set of laws for each subgroup

iv. Those who choose to live in this society must respect its laws

c. Hospital usually asks for emergency court hearing. Judge typically decides to override the parents’ views and give child the transfusion

d. If child dies due to parents’ refusing medical care, parents are invariably charged with involuntary manslaugther. They usually receive light sentences that do not involve incaraceration.

4. Mens rea.
a. Despite Washington legislature’s choice to find manslaughter with ordinary negligence, most states require gross negligence: a higher likelihood of harm than ordinary negligence, risk of particularly serious harm, or higher awareness of that risk.

b. Gross negligence standard is somewhat vague, because it is difficult to formulate precise rules about what might arise in advance.

5. When is there justification in creating high risk of death?

a. Driver hurrying away from robber who demanded wallet – perhaps justified

b. Driver hurrying to a meeting – not justified

c. Difference between the two is that in the second there is no imminent threat of harm. As members of society, we have an obligation not to injure one another. Perhaps creating the risk of injury is legitimate, however, if you are in reasonable danger. 

6. Vehicular homicide
a. Policy reasons for vehicular homicide laws:

i. Too large a percentage of the population at risk of prosecution for very serious crime (manslaughter) – vehicular homicide sentences more lenient

ii. Juries don’t convict the ordinary driver of manslaughter: vehicular homicide laws increase the chance of punishment

b. Model Penal Code rejects vehicular homicide:

i. It punishes all forms of negligent homicide as an offense of a lesser grade

ii. MPC opposed to imposition of criminal sanctions for ordinary negligence

7. Porter v. State (vehicular homicide)

a. Reasons to convict:
i. High rate of speed

ii. Not in familiar neighborhood – driver should increase level of care

iii. Traffic laws there for a reason – to regulate dangerous behavior

b. Serves the purpose of punishment of deterrence – where death is involved, drivers should take extra care

c. Reasons to not convict:
i. Notice issues – stop sign was badly placed, no reasonable notice that he should have stopped

ii. Does not meet standard of gross negligence, which indicates reckless disregard for human life. Court says we’ve all run stop signs before, to impose this sanction for running stop sign is unreasonable

iii. Applies to all of us: Hard to envision “somebody else” as the perpetrator

8. U.S. v.  Walker (misdemeanor manslaughter)
a. Prosecution does not have to establish negligence to get a conviction – only prove that he was carrying a gun without a license (misdemeanor which has a causal link to the death)

b. Policy reasons for allowing substitution of intent from misdemeanor to manslaughter

i. Court wants fewer people carrying handguns

ii. Where causal link is extremely strong, they are trying to prevent deaths

c. Difference between Walker and Faulkner: foreseeability – can’t foresee that stealing rum would burn down ship – linkage between gun and death is more foreseeable

d. The rule doesn’t apply in every state – usually limited to mala in se rather than mala prohibita cases.

B. Voluntary Manslaughter

1. Voluntary manslaughter is killing of a human being, committed:

a. Intentionally, or

b. Unintentionally, but recklessly manifesting extreme indifference to the value of human life.

2. To determine whether a killing constitutes voluntary manslaughter, we need to shift our focus away from D and more on decedent’s behavior. More similar to rape, in that we examine the victim’s conduct (i.e. adequate provocation)

3. People v. Walker (D kills decedent with decedent’s own knife, after decedent aggressively demands that D and his friends gamble with him, and attacks them with a knife when they refuse)

a. Killing is reduced from murder to voluntary manslaughter.

4. Arguments for killer who is being provoked meriting lesser punishment:

a. Less deterrable – he responded to provocation

b. Less culpable – not necessarily the same kind who would kill without provocation

c. Provocation lowers the mental state – we want to assign blame to a higher mental state

d. Policy reasons:

i. Willing to excuse conduct where we can see ourselves in that condition (i.e. provocation)

ii. People expected to protect themselves – if we give latitude for self-defense, we give latitude in this instance as well

5. Questions the courts must answer:

a. What constitutes adequate provocation?

b. How immediate must provocation be?

c. When is response unreasonable and thus criminal?

d. How flexible are we in designing the reasonable person?

6. Procedure of determining whether provocation existed.
a. Judge makes initial determination of whether provocation was legally adequate
b. If judge answers yes, he will allow the jury to determine whether the provocation was sufficient
7. Cooling off time. Time is relevant – if there was adequate cooling off time, it is murder and not manslaughter. If blood is still hot, act could still constitute manslaughter even if there was a time lapse between the action that provoked D and the killing.

8. Rowland v. State. D finds his wife in the act of adultery, and kills his wife while ostensibly aiming at his wife’s lover.

a. Reasons court set up the rule that seeing your wife in the act of adultery is per se adequate provocation:

i. Reasonable man standard

ii. Killing faithless wife is less morally culpable

9. Partial justification. D somewhat exaggerates the premise for killing/it is an excessive reaction to an otherwise plausible reason for force – i.e. Rowland. If the provocation is such that a person in D’s situation would be tempted to kill but would have restrained herself, then the law splits the difference. D is found not guilty of murder, but guilty of manslaughter.

a. Reasons that he deserves less punishment than unprovoked killer:

i. Retributive justification: Not as culpable as unprovoked killer

ii. Utilitarian justification: Law is trying to find optimal level of deterrence – does not seek to deter all action in the fact of provocation, only excessively violent action.

b. Criteria for partial justification:

i. Provocation comes from the victim
ii. Words alone don’t constitute adequate provocation (exception: when invoke an incident that rekindles an emotion, one can argue that they are no longer “mere words” but actually constitute provocation – i.e. a woman who is raped sees the rapist the next day and he says, “Hey baby, you were great last night”)

iii. Victim’s defensive force against killer’s initiating force isn’t provocation

iv. Killer must have strong evidence that the wrong he avenges really occurred
10. Partial excuse. No “partial moral credit” for the killing, but we recognize that his actions were slightly less voluntary and hence slightly less culpable than if he hadn’t been provoked – i.e. Walker (D kills decedent with decedent’s own knife after he is attacked)

a. Reasons he deserves less punishment:

i. Retributive justification: Killing is less ascribable to malevolent character
ii. Utilitarian justification: D is less deterrable because of his rage

b. Criteria for partial excuse:

i. Killer must act immediately after the provocation

ii. Victim need not have been cause of provocation

iii. Victim’s defensive force against killer’s initiating force could be provocation
iv. Killer may have been wholly mistaken in ascribing bad conduct to victim

11. People v. Tapia. Two junkies who had been subjected to a series of beatings and threats by decedents planned to kill him and did. Court held that prolonged fear might provide sufficient provocation to support a manslaughter verdict.

a. If they had killed him during one of these beatings, it would have been self-defense and they would have been completely exonerated.

12. Subjective and objective element
a. Provocation is subjective – different people are provoked by different things, given their backgrounds

b. Restraint – objective standard. (In Walker, we would expect a reasonable person to exercise restraint and not slit the victim’s throat)

c. If D is provoked but did not exercise restraint, then his sentence will generally be reduced from murder to manslaughter.

13. The objective element.
a. Relevant factors:
i. Length of time since occurrence of last threat is relevant – if it had been a year, their sentences probably would not have been reduced.

ii. Personal characteristics relevant to provocation – i.e. relative size of D versus decedent

b. Reasons for objective element:

i. Abuse of subjective standard – want to put a check on conduct

ii. Predictability – objective element standardizes how the law will be implemented.

14. People v. Wu. Introduces the cultural defense when D kills her son when she finds out that her husband has a girlfriend, and beats and mistreats her son.

a. State’s argument: Provocation not sufficient
i. No real threat: No objective or reasonable belief she was in danger

ii. Usually heat of passion is immediate, but in this case provocation happened over a long period of time

iii. The actual thing that provoked Wu was “mere words” by her son

b. State’s arguments with respect to her cultural background
i. In China it would be culpable conduct, so culture is irrelevant

ii. We don’t want a standard so flexible that it varies depending on her culture

iii. Contradictory evidence about how traditional she is – having a child out of wedlock shows that she doesn’t always conform her conduct to Chinese norms.

c. Defense’s arguments in response

i. Provocation based on subjective standard – because of her background, there was adequate provocation and you cannot say that she needs to look at it as a native citizen of the US would.

ii. She tried to kill herself, which evidences her severe emotional distress.

iii. Heart palpitations and trouble breathing are evidence that she was having a physiological response

d. Defense’s arguments that despite ten-year relationship, she did not have cooling-off period
i. Emotions suddenly ignited by her son’s revelations

ii. Ten year period was continuing provocation – it was ten years of pre-existing stress that was ignited by the information that she heard –an ongoing stress, like in Tapia
e. Arguments against cultural standard
i. Predictability – we should know what the punishment will be if a crime is committed

ii. Problems with cultural standard: i.e. cultural defense when D smashes wife’s head with hammer

iii. “Dueling experts”
C. Second-degree Murder
1. Definition (from California statutes): Murder is the unlawful killing of a human being with malice aforethought

a. Malice may be express or implied. It is express when there is manifested a deliberate intention to kill. It is implied when no considerable provocation appears, or when the circumstances attending the killing show an abandoned and malignant heart, or when there is the intent to do serious bodily harm.

2. Intent to kill can be established by:

a. Witness testimony – what was going on between decedent and D.

b. Circumstances surrounding the murder might give some indication of what was going on, to help us determine whether it was intentional or accidental

c. Provocation: If the reaction was extreme, it informs us of the intent to kill

d. Past relationship of parties: If there was past animosity, that may indicate intent to kill. Time lapse makes a difference.

e. How many times victim was shot/stabbed: If once, may have been accidental. If shot a number of times, that indicates that the killing was likely intentional.

f. D’s past can only be examined under certain circumstances (motive, identity, absence of mistake, common scheme)

3. Francis v. Franklin. D was a prisoner trying to escape. After fleeing from a dentist’s office, he shot someone who slammed the door in his face. D claimed that the shooting was accidental, triggered by the surprise of the slamming door.

a. State could point to these elements to establish intent to kill:
i. He pointed gun at victim

ii. His finger was on the trigger

iii. Comments he made to the victim’s wife afterward – “I might as well kill you”

b. What negates his intent to kill?
i. He didn’t kill daughter, wife or hostage

ii. Gun was unfamiliar to him

iii. Motive was to get a car – did not kill Collie’s daughter or wife to get the car

iv. Wasn’t aiming at the person, second bullet hit the ceiling

v. He waited until door was closed – timing of the shooting indicates it may not have been intentional

c. Problem with jury instructions in this case was that a reasonable juror would believe that they shifted the burden of persuasion on the element of intent to the D. State has the burden of proving intent to kill, regardless of the difficultires.

4. Commonwealth v. Malone. D shoots decedent at an ice cream parlor. Asks decedent if he wants to play “Russian Poker.” Decedent consents – D pulls trigger three times, killing decedent.

a. Not intentional, but extreme recklessness in this case constituted murder

b. What pushed this beyond negligence?

i. magnitude of risk – he has a gun, it is loaded, it is pointed, it is pulled

ii. lack of justification/policy concerns – we think it’s the functional equivalent of an intentional killing

iii. Awareness of the risk – Engaging in this game is a conscious disregard for the substantial risk that the game poses.

c. Reasons to make Malone guilty of murder:

i. Deterrence considerations

5. People v. Protopappas. Dentist who gave patients who were overly sensitive to anesthesia massive overdoses, resulting in three deaths.

a. Protopappas did not intend to kill, but was reckless. He received information that the decedents were in grave danger and that the patients had medical problems which made them sensitive to anesthesia. Violated a standard of care. Probably would not have been murder if only one patient had died, but state can prove recklessness through pattern of conduct.

6. Berry v. Superior Court. Berry kept a pit bull that was trained as a fighting dog. There were over 200 marijuana plants in his backyard. Neighbor’s child, 2½ years old, gets into Berry’s yard and is killed by dog. Court ruled that Berry could be convicted of second-degree murder.

a. Possession of dog was at least extreme recklessness:
i. He bought it and trained it to be fighting dog.

ii. Dog may have been violently protecting the marijuana

b. Two-part test set forth in Love. Conduct can constitute murder if there is:

i. Awareness of risks, or

ii. Conduct is contrary to law

7. Commonwealth v. Dorazio. Dorazio was a former heavyweight boxer who got into a fight with a member of rival union. He kept pummeling victim, even after victim was unconscious, and was convicted of second-degree murder.

a. “Serious bodily harm” murder – does not require the intent to do permanent or fatal injury. Normally it is limited to cases where assaultant uses deadly weapon. In this case, Dorazio knew his fists were dangerous.

b. Under this rule, D could be guilty of murder for shooting somebody in the leg, even if only injury was intended. (Gun is a deadly weapon.)

c. Ability to look for intent to cause grievous bodily injury as opposed to intent to cause death makes it slightly easier for the prosecution.

d. Dorazio suggests that when boxer/martial artist punches somebody, it may be the functional equivalent of a gun.
8. People v. Watson. Watson was driving drunk. He ran through a red light at 70 mph, almost hitting another car. After that, Watson went through a green light at high speed, running into another vehicle and killing the driver and passenger. California Supreme Court held that he could be charged with second-degree murder.

a. When did Watson advert to the risk that he might kill somebody?

· Majority: He knew he had to drive home

· Dissent: Drinking impairs your judgment about capacity to hold your liquor – he wasn’t conscious of risk of death at that point

b. When he started driving?

· Majority: He had awareness of risk he could potentially kill somebody. He should know that he couldn’t drive a car correctly.

· Dissent: People drive drunk all the time. 9 times out of 10 people get home safely.

c. When he skidded and stopped the first time?

· Majority: Yes. Near accident is a warning – awareness should be heightened at that point.

· Dissent: He successfully avoided the first collision – thus figured he would probably not kill anyone.

9. Where do you look to find extreme recklessness?
a. The conduct. Is it egregious and without social utility?

b. Is there a pattern of conduct extending over time, as in Protopappas where a number of patients died, or is it confined to the night in question, as in Watson?

c. The particular characteristics of the offender (i.e. Dorazio – for average person it might not be considered reckless, but it is when you have the fists of a former heavyweight boxer), or the weapon used

Different types of homicide

	Act
	Possible level of homicide
	If the evidence shows…

	Intentional killing
	First-degree murder
	Premeditation or deliberation

	Intentional killing
	Second-degree murder
	Impulsive act

	Intentional killing
	Voluntary manslaughter
	Heat of passion or adequate provocation

	Unintentional killing
	Second-degree murder
	Extreme recklessness

	Unintentional killing
	Involuntary manslaughter
	D should have been aware of risk (negligent) or concurrently committed misdemeanor


D. First degree murder.

1. Definition. It is a category of offense that has consequences dramatically different than other degrees of homicide. First degree murder carries the greatest penalty (first degree murder, life without parole, etc). Reflects societal perceptions that these types of offenses are among the most heinous.

a. Act

b. Malice – intent to kill

c. Premeditation

d. Deliberation

e. Act that can substitute for premeditation or deliberation – poison, torture, explosives, lying in wait

2. Premeditated murder. Evidence indicates some planning and reflection about the act. Actor turned it over in her mind and made the deliberate decision to kill. State must shows a heightened mental state.

a. How the State might establish this:

i. Confession

ii. Purchasing weapon

iii. Circumstantial evidence indicating that D was planning to kill

iv. Motive

v. Someone being stalked
vi. Time to make the decision to kill

vii. One shot (as opposed to several) shows lack of fear

3. U.S. v. Watson. Watson was chased by police after they found him in a stolen car. Watson was chased into an apartment where he scuffled with police officer (Lunning). Watson got officer’s gun in the struggle, and shot officer after several seconds’ delay, during which officer begged for his life. Court ruled that Watson could be found guilty of first-degree murder

a. Government must show:

i. Thought before acting

ii. Definite decision to kill

b. Government can show this through:

i. Officer’s plea to spare his life, which occurs twice

ii. Two pauses in the action
c. What would prosecutor cite as evidence of preconceived design to kill?
i. Flight itself can be construed that way. He knows police are in pursuit and armed, and that he has to escape in some way. He decides not to permit them to arrest him.

ii. Even if he planned to kill officer only if necessary to escape, it would still be first-degree murder. Contingency plan is still a plan.

d. If the thought process differentiates first degree from second degree murder, how much reflection is required to bump up the offense from second degree to first?

i. there has to be a conscious choice to kill

ii. premeditation
iii. deliberation
iv. This extra time and thought process can be as little as a matter of seconds.

e. Cold-blooded/hot-blooded distinction. Before Watson, the DC court suggested a qualitative distinction in Austin v. U.S. – first degree murder is cold-blooded, while voluntary manslaughter and second-degree murder are hot-blooded.

i. To get voluntary manslaughter, defense could argue that Lunning saying he would blow Watson’s “motherfucking head off” was adequate provocation.

ii. To get second-degree murder, defense can argue that the action was extremely reckless, with no intent to kill. Shown by the fact that he shoots cop in the body as opposed to the head, that he shoots him from some distance (3 feet as opposed to point blank), and that Lunning may have made a move for the gun, startling Watson into shooting.

f. This was not first-degree murder. Although the court made the right decision, defense attorney should have been able to convince the trial judge to instruct only second-degree murder.

4. Commonwealth v. Scott. Police officer asks D if he has any moonshine. D replies, “This is what I have for you,” pulls out gun and shoots officer.

a. Court uses standard of fully formed purpose to determine that D could be convicted of first-degree murder.

b. What suggests premeditation?

i. Time difference (he had time to think about whether to shoot while officer searched his friends)

ii. The statement “this is what I’ve got for you”

iii. Lack of provocation

5. Different approaches to differentiating between first-degree and second-degree murder. Sometimes the criteria is temporal. Some jurisdictions have said that seconds are not enough. Others frame it qualitatively, highlighting an aspect of the act that makes it more culpable. Regardless of whether quantitative or qualitative, we’re looking for something suggesting that this was the result of planning and deliberation, not an impulsive act or the result of provocation.

6. Acts that definitely constitute first-degree murder. CA has enumerated acts that definitely constitute first-degree murder – use of explosives, poison, torture, evidence in lying in wait for victim. In some jurisdictions, these factors can be substituted for deliberation or premeditation.

7. The mercy killing. 71-year-old woman strangles her ailing husband with a stocking after looking after him for many years. She says, “Walter would thank me.”

a. Voluntary manslaughter? No – it was not in the heat of passion or provoked.

b. Second-degree murder? No – it would have to be impulsive or extremely reckless. This killing was neither.

c. All the elements of first-degree murder are present.

i. Malice (intent to kill) – shown by her statement that “Walter would thank me,” and the fact that she got the stocking, returned and strangled her husband without provocation

ii. Premeditation – the context of their relationship shows that she had thought about this for some time.

iii. Deliberation – the time that it takes to strangle somebody. In the course of strangling, she had the time to reflect on what she was doing and change her mind.

iv. It is cold-blooded (calculated and planned), as opposed to hot-blooded.

d. Why, then, could she plead guilty to voluntary manslaughter? Because we wanted to punish the conduct, but something about punishing a mercy killing with first-degree murder didn’t feel right.

8. Commonwealth v. Gould. D stabbed his former girlfriend to death. He suffered from a delusional belief that he had a Messianic role, and felt obligated to kill her because she was “impure.”

a. Court says he should be permitted to introduce evidence suggesting that even though he knew what he was doing was wrong, his mental illness prevented him from premeditating and deliberating.

b. Reasons this evidence should be allowed:

i. Retributive – speaks to D’s culpability

ii. Speaks to the definition of first-degree premeditated murder: requires proof of both premeditation and deliberation. In this case, accused is not capable of reaching this heightened mental state.

E. Felony Murder
1. Definition: In most jurisdictions, when someone is killed during the commission of an inherently dangerous felony (kidnapping, arson, burglary, robbery, distribution of drugs), the court can find the requisite intent for murder in the commission of the felony itself. There must be a causal link between the conduct and the death. See theories of felony murder below for different ways to apply the rule.

a. Non-dangerous felonies: Escape from prison, grand theft.

b. In some jurisdictions there is second-degree felony murder, but in most jurisdictions it’s limited to first degree murder.

2. Purposes of punishment served by felony murder doctrine:

a. Deterrence: Felony murder doctrine is designed to deter the commission of felonies

i. Argument against deterrence rationale is that felony murder doctrine doesn’t deter the felony itself, and there are very few deaths during felonies, so somebody may not take the doctrine into account when deciding whether to commit a felony.

b. Retribution for deaths occurring during the felony.

3. People v. Stamp.

a. Defendants rob a store. Shortly after they leave, one of the employees has a heart attack and dies. Court upholds their felony murder conviction.

b. Not foreseeable that victim would die, but court applies strict liability to all killings committed in the course of the felony. Should foreseeability be relevant?

i. Felony murder doctrine doesn’t deter the felony itself, and very few deaths occur during felonies, so somebody won’t take it into account in making calculus of whether to commit crime

ii. Doesn’t meet retributive theories of justice because it wasn’t intentional – thus less culpable

c. The getaway driver was also held responsible under complicity theory as an aider and abettor. Again, foreseeability is not an issue.

d. Stamp was looking for an instruction saying that where D’s act is not the proximate cause of death and the sole proximate cause is the negligent conduct of victim, there should be no conviction. It wouldn’t have helped him, because it would have been difficult to show that Honeyman (victim) was the sole proximate cause.

4. People v. Gladman.

a. D shot and killed an officer around 8:25 p.m. after robbing a store at 8 p.m. Felony murder rule applies if killing occurred during the felony or in immediate flight. Issue is whether, as a matter of law, his shooting did not occur in immediate flight from robbery. Court upholds the conviction.

b. Jury need not find that Gladman intended to kill the officer – only an intent to commit the robbery and a causal link between robbery and officer’s death. The link here is that he robbed the store, ran away, and police knew he was on the run.

c. How long is D still considered “in flight”? Court’s test:

i. Whether D had reached a place of safety.

ii. Whether D had secured his plunder.

iii. Whether killing occurred at the same location.

iv. If not, what is the distance separating the two?

v. What is the time difference between felony committed and killing?

vi. Whether D was pursued by police, watchmen or citizens.

d. Question of whether D was in flight is usually a jury question of fact for jury as opposed to being decided one way or the other by the judge.

5. People v. Cabaltero.

a. During robbery, Dasalla shot Ancheta for firing at two workers. Absent felony murder rule, Cabaltero would only be convicted of armed robbery.

b. The killing was not committed to further the felony, but does not need to be. Absent the felony, Ancheta would not have been killed.

c. If we find that Dasalla is guilty, Cabaltero will also be guilty as an accomplice – penalty is first-degree murder.

d. Policy reasons to use felony murder rule to protect co-defendants (i.e. it is a felony murder if a co-defendant is killed):

i. Retribution: We value the person’s life even though he’s involved in the felony murder

ii. We’re concerned about the volatility and unpredictability of a violent situation – we don’t want anybody to be killed in the course of a felony, whether an innocent person or a co-defendant.

iii. If you engage in this kind of criminal conduct, any death that results is the moral equivalent of first-degree murder.

6. People v. Ferlin. Co-defendant kills himself in the course of starting a fire to commit arson. Court finds that Ferlin is not guilty of felony murder.

a. Not felony murder because killing yourself is not murder.

b. Reasons we might want to extend felony murder to Ferlin (even though it wasn’t here):

i. Purposes of punishment – deterrence, retribution

ii. Consistency

iii. But for the felony this loss of life wouldn’t have occurred.

7. People v. Hickman. Police pursue burglars. One police officer sees a figure with a shotgun and believes it to be a burglar, but it is actually a detective. He shoots and kills the detective. Appellate Court of Illinois finds that burglars can be convicted under felony murder rule.

a. Justification is a proximate cause argument – but for the felony there would have been no killing.

b. What purposes of punishment are met?

i. Retribution: Blame criminals for the death

ii. Deterrence
iii. Incapacitation – a purpose that underlies our choices about punishment

8. People v. Washington. D was robbing a gas station. Attendant pulled out a gun and killed D’s accomplice, then shot and injured D. Supreme Court of California found that D could not be convicted of felony murder.

a. Court’s rationale:

i. Malice is impossible

ii. Imposing additional penalty for the killing discriminates between robbers on the basis of the victim’s response
iii. If the victim kills, it is so unconnected to the causal chain that it isn’t transferable: Doesn’t further D’s criminal design

b. What purposes of punishment are served by not convicting:

i. Retribution as a limit on punishment – upholds the moral force of retribution by not convicting

ii. Should not extend somebody’s culpability beyond his acts and acts of his accomplice

c. Distinction between initiating a gun battle and carrying a gun – if robbery victim kills a robber, other robber can be found guilty if he in initiated the battle – not if he didn’t

9. Felony Murder Hypothetical. Serge and Warren decide to rob a small convenience store. While S collects money, W looks out the open window and sees his enemy PK. He shoots and kills her even though she has no connection to the robbery. They are both arrested one block from the store.

a. Arguments for felony murder:

i. Cabaltero – S is liable because killing took place

ii. Gladman –homicide and felony were at the same location

iii. Stamp – but for the felony occurring, this wouldn’t have happened (proximate cause argument)

iv. The fact that he is armed makes it reasonably foreseeable that somebody could be killed in the course of robbery. We can infer the intent from that.

b. Arguments against felony murder:

i. Murder wasn’t committed in furtherance of the felony
ii. Doesn’t make sense in terms of public policy reasons
iii. Not a but-for cause – W could have killed her otherwise

iv. No causal connection between felony and murder – there is no causal link because it wasn’t part of the escape or the direct result of the incident

When felony murder is found

	Situation
	Case
	Result

	1. D and co-D commit felony – victim has heart attack and dies
	Stamp
	Felony murder

	2. D and co-D commit felony – cop kills cop
	Hickman
	Felony murder

	3. D and co-D commit felony – victim kills innocent person
	Payne (cited in Hickman)
	Felony murder

	4. During felony co-D kills co-D
	Cabaltero
	Felony murder

	5. Co-D commits arson, kills self in process
	Ferlin
	Not felony murder

	6. D and co-D commit felony, victim kills co-D
	Washington
	Not felony murder

	7. D and co-D commit felony, police kill victim
	
	Not felony murder


10. Different theories of felony murder.

a. Proximate cause theory (whether dangerous situation is cause of death) – all of these would be felony murder. Reasons not to apply proximate cause test:

i. Proximate cause not enough when we are discussing moral culpability
ii. There will never be a brightline distinction
iii. Over-inclusive – if we apply the test, it takes in more than we would normally think appropriate

b. Protected person theory. Liability only extends to “innocent people” killed in the felony. If an “innocent person” is killed we have felony murder. Includes – 1, 2, 3, 7. Problems with it:

i. Criminal law should not distinguish between people and decide some lives have no value
ii. Doesn’t serve purpose of deterring dangerous acts – we shouldn’t just be concerned with innocent victim cases

iii. Attenuation problem – gets rid of act requirement (i.e. in case #7)

c. Agency theory. It’s only felony murder when action perpetrates the felony. Doesn’t apply when non-D does the killing. You are only liable for your own actions as perpetrator of the offense. Numbers 1, 4, and 5 would be classified as felony murder. Problems:

i. Actor should be held responsible for those things that can be foreseen
ii. Doesn’t clearly define perpetration of the felony – still open to interpretation

iii. Doesn’t capture D killing innocent bystander or police killing innocent by mistake

d. Majority view throughout country is that conduct must be in furtherance of the felony (agency theory), and a result of the felony. Fewer states hold onto the proximate cause theory.
e. Felony murder has come under a lot of attacks but has demonstrated resiliency despite that. Due to criticism, courts have attempted to limit its scope – furtherance of the act, limit to actions of D or accomplices, etc. Scholars say that despite modifications, we do not solve illogic of the rule.

F. Capital murder/the death penalty
1. Furman v. Georgia – Abolishes death penalty. Supreme Court struck down the death penalty in a plurality opinion. They found that the sentencing procedures were constitutionally defective, and application of the penalty to be pregnant with discrimination against poor black defendants. There was no distinction between cases where it was imposed and cases where it was not.

2. Gregg v. Georgia – Reinstates death penalty. Supreme Court upheld the death penalty, reversing Furman in cases where there are procedures for death penalty’s application. Concern in Furman case was arbitrary and capricious nature of the death penalty when jury is unguided in discretion. Running through Gregg was the idea that if the penalty is guided, then it can be properly applied. Constitutional features of death penalty are separate sentencing phase and a rational procedure to guide the sentencer. The Gregg court also encourages the statutory listing of factors to be considered.

3. Woodson: States had attempted to reinstate the death penalty in two different ways – by applying guidelines and by automatically imposing it. In 1976, Court invalidated the automatic imposition of the death penalty. Mandatory punishment was inconsistent with contemporary standards of decency, did not properly guide the jury, and 8th amendment required particular consideration of relevant attributes of D.

4. Coker: Supreme Court ruled that death penalty could only be applied in murder cases. Prior to 1977, many had been executed for rape. Most people executed were black man for raping white women.

5. Features of death penalty:

a. Bifurcated trial – guilt phase and penalty phase. The guilt phase is a trial on the merits. If jury finds first degree murder in guilt phase, you move on to the penalty phase. Choice then is to impose sentence of death, life, or life without parole. Jury must be unanimous to find guilt, but in the sentencing phase they are given aggravating factors. They must be unanimous that a factor exists, but they do not have to be unanimous that the same factor tips the balance.

i. Example: 3 factors: heinous atrocious and cruel (HAC), felony, and victim was a police officer. Jury unanimously finds that each of these factors exists. They have to unanimously find that the aggravation outweighs the mitigation. However, they need not agree that the same factor tipped the balance.

ii. Some states give the individual a retrial on sentencing if there is no unanimous decision for death. Other states automatically give D the life sentence if the jury is not unanimous for the death penalty. In some states, judge can override “life” recommendations – regularly happens in FL and AL.

b. Voir dire: During voir dire, jury will be told that D is eligible for death penalty, and jurors ask if they can impose the death penalty (i.e. if they have personal problems with it). If they say no, they are struck from the jury – thus you end up with pro-death juries.

c. Burden of proof. Burden is on the government to prove aggravating factors beyond a reasonable doubt. Defense can provide evidence in mitigation. Should D be able to make a statement to the jury in this phase that is not subject to cross-examination? Some states permit it – other states say that, just like any other witnesses, D during the sentencing phase is subject to cross-examination.

d. Statutory descriptions. They are supposed to aid in making a unique determination. States list about 20 aggravating factors. Some states insert language describing the nature of the crime – i.e. heinous, atrocious and cruel. It is not clear what makes an offense heinous, atrocious and cruel. The CA Supreme Court determined that no construction of that phrase could survive constitutional challenge, but other states have included it as an aggravating factor.

6. Death Penalty Hypothetical: Twins M and J live in a jurisdiction where killing of police officer is an aggravating factor, and it also has a HAC factor. M and J get into a pickup looking for people to shoot. They shoot an officer and a homeless man. Both are convicted in separate trials of first-degree murder. M’s aggravating factor is shooting police officer – other officers, family, etc. come in to testify with victim impact statements. J’s aggravating factor is HAC, and nobody comes in to testify for deceased homeless under VIS rule. Any problem with allowing the officer’s family to come in and testify about it?

a. Arguments against:

i. says people have different worth – slippery slope (i.e. that rich people’s lives are worth more than poor people’s)

ii. puts defendants on unequal ground based on who their victims are

iii. we need to look at D’s head to see what he was thinking, as opposed to looking at the victim to determine sentence

b. Arguments for:

i. Balances out D’s family and friends testifying about him

ii. Benefits the victim’s family – giving them the opportunity to have a voice in the proceedings helps them by affirming the victim’s worth

Mitigating Circumstances

7. Lockett v. Ohio. D is getaway driver in an armed robbery. While she sat in the car, accomplice accidentally killed a robbery victim. Ohio scheme would not let her put forward the mitigating factors of her minor participation in the scheme and her good prospects of rehabilitation. Supreme Court upheld her claim and vacated her death sentence.

a. Different mitigating factors that might be put forward:

i. The fact that she didn’t kill anybody
ii. The likelihood of her rehabilitation
iii. Her family/friends talking about the potential impact of her death on them

iv. Lack of criminal history to suggest that this was aberrational

v. Psychological factors – i.e. if she was an abused child it gives you an idea of what compelled her to commit the crime

b. Should statutes delineate mitigating factors as they delineate aggravating factors?

i. There is the danger that jurors will think that what is enumerated is important and what is not enumerated is not important

ii. Courts have frowned on limitations on mitigating evidence. They believe that jurors should be entitled to consider mitigating evidence that is broader in scope than what might constitute a defense to the crime.

c. What if jury has found HAC but also found ten mitigating factors? In 1989, the FL Supreme Court overturned the death penalty in precisely this situation. It found that the death penalty should be reserved for the most aggravated and least mitigated situations.

Categorical Limits

8. Tison v. Arizona. Gary Tison’s family sprung him from jail and they were on the run. Their car broke down in the desert and when a car stopped to help they stole the family’s vehicle and shot the family members. Defendants, Gary Tison’s sons, appeal their death sentence, and Supreme Court upholds the death penalty.

a. In examining contemporary standards of decency, the court looked at what was done by state legislatures. 8th Amendment applies to cruel and unusual punishment – if is done in many states, it isn’t unusual.

b. Following Tison, the minimum level of intent is reckless indifference to human life for accomplices. The actual killer can have a negligent state of mind and still be subjected to the death penalty.

9. Thompson v. Oklahoma. Determined that executing someone under 16 violated evolving standards of decency.

10. Stanford v. Kentucky. Court ruled that there was no bar on executing somebody who was 16 or 17 years old.

11. McCleskey v. Kemp. D appeals death sentence on the ground that the process is racially biased.

a. On an equal protection argument, the complaining party would have to show that the discrimination was purposeful. Court say that McCleskey’s argument fails to satisfy that requirement:

i. Too many variables involved to show that racial discrimination is purposeful

ii. Must show that it affects this specific sentence – did not show that purposeful discrimination accounted for his result. This is the more sound reason.
b. Standard of proof in a case that raises race discrimination is preponderance of the evidence. Court sets a standard that is way too high – if this doesn’t do it, almost nobody will be able to prove racial discrimination.

12. The death penalty is bad.

a. McCleskey. McCleskey’s lawyers successfully petitioned for habeas corpus because of the fact that his cellmate was a jailhouse informant. Supreme Court determined that it was too late, even though two jurors said that they would have spared McCleskey’s life if they had known of relationship between the informant and the prosecution.

b. Not fairly applied: The race of the victim is statistically significant. Race of victim was white in 83% of the cases. It also tends to be imposed in cases distinguished by D’s poverty or mental impairment.

c. Bad lawyering: In GA, counsel slept through parts of the trial. On appeal, court said he didn’t sleep through important parts and upheld the sentence.

i. In GA, there is a low-bid system for representation. Lowest bidder gets the case.

d. Innocent people are executed. Stanford LR documented 350 cases in which an innocent person is convicted of a capital crime. Habeas corpus is denied frequently – many innocents executed.

e. Childhood matters – many defendants who are executed had an extremely abusive childhood, such as David Mason in California, whose parents decided he was inhabited by Satan and treated him as though he were.

V. Attribution of Criminality
A. Attempt

1. Mens rea for attempt is specific intent to commit the completed crime. The mens rea requirement in most statutes is purposeful. Generally neither negligence nor SL are sufficient for attempt liability – for SL crime, you don’t need intent, but for attempt to commit a SL crime you need intent.

2. MPC uses the substantial step test – any action that is strongly corroborative of the actor’s purpose is sufficient to establish attempt, along with some nominal non-act evidence of intent.

3. Policy reasons to punish attempts
a. Deterrence – attempt laws deter commission of crimes
b. Retributivism – D is morally culpable for the attempt
c. Intervention – set a line for intervention before crime has actually occurred, to prevent harm

d. Establish codes of conduct about what behavior is desirable and what is undesirable

4. Punishment for attempt is almost always less than the completed crime:

a. Not as culpable as the final act

b. Reduced sentence might give D incentive to refrain from actually committing the act
c. Retributive arguments – punishment must fit the crime

5. Primary function of punishing attempts is intervention before individual commits the final offense – gives the state some information about when it is appropriate to intervene and protect its citizens.

6. It is black letter law that an individual who has engaged only in preparatory activity is not criminally culpable, while the individual who has advanced beyond mere preparation may be charged with an attempt.

7. People v. Murray. Man elopes with his niece with the intention of marrying her, and had requested somebody else to go for magistrate to perform ceremony.

a. Court says they would need to be at the altar, standing before magistrate for D to be guilty of attempt.

b. Need something to get us beyond preparation – need an unequivocal step suggesting we are close to completing the act.

8. McQuirter v. State. Black man convicted of an attempt to commit an assault with intent to rape a white woman.

a. Mens rea of attempt to rape: Attempt to gratify one’s lustful desires against the resistance of the female. Court suggests that one can infer attempt to rape from McQuirter’s acts.

b. Act for attempt to assault: Waiting, following the victim.

c. To convict McQuirter, the state mainly relied upon inferences based on his behavior and racial differences at the time. Our ideas may be complicated by customs, social mores, and racial factors.

9. People v. Rizzo. New York police discover that four men are going to rob a bank. As Rizzo jumped out of the car and ran into the building, all four were arrested. However, the man they intended to rob was not inside the bank at the time – they did everything they could to find the payroll but were unable to.

a. Test for intent is whether there is proximity to success. Court wants to give D room to back out, and require that the individual who is going to intervene waits until there is sufficient activity to show that the crime is probable.

b. Proximity to success test exists because there is a qualitative difference in terms of prison time spent and moral culpability.

c. This was properly decided – they weren’t close to success because they hadn’t located the victim.

d. Evidence on intent here probably came from a confession. Should we rely on a confession from a co-defendant? Plea bargaining problem – confession may not be accurate, other motivations for the individual to confess. If police had been following them, we would be more comfortable in saying that they intended the robbery.

e. There is a tension between wanting to draw the line as early as possible to prevent a crime and wanting to draw it as late as possible to ensure that a crime was actually be committed so we don’t create a crime where there was none.

The “D” hypothetical – 8 stages

1. D develops animosity towards his enemy and tells others about it

2. D decides to burn enemy’s house, records decision in diary

3. D buys gas, matches, etc.

4. D approaches enemy’s house, looks around outside

5. D enters house

6. D shuts off sprinkler system

7. D spreads gas

8. D throws match

At what point could D be found guilty of attempted arson?

If standard is any action consistent with criminal intent and inconsistent with good intention – #5

If standard is any action that is dangerous regardless of consistency with criminal intent – #6, maybe even #5.


(Most likely #5)

If standard is any action that is unequivocally consistent with criminal intent – #7, maybe even #8

10. Tests for attempt rejected by the Model Penal Code:

a. Physical proximity test – the overt act required for an attempt must be proximate to the completed crime, or directly tending toward completion of the crime, or must amount to the commencement of consummation.

b. Probable desistance test – D reached a point where it was unlikely he would change his mind

c. Dangerous proximity test – the greater the gravity and probability of the offense, and the nearer the act to the crime, the stronger is the case for calling the act an attempt

d. Indispensable element test – anything indispensable to the crime not yet under the actor’s control acquits. If you haven’t found a victim (Rizzo), then no liability.

e. Abnormal step test – an attempt is a step toward crime beyond which the normal citizen would think better of his conduct and desist. Problem is that virtually any step to the crime is abnormal for the average citizen – overly broad.

f. Unequivocality test – an act does not constitute attempt unless the actor’s specific criminal purpose is evident from her conduct. For arson example, it would be step 8.

g. Res ipsa loquitur test – “The thing speaks for itself.” Problem is that what speaks for one may not speak for the other.

11. MPC actually uses substantial step test – looking for evidence that strongly corroborates criminal purpose. Substantial step takes us fairly far down the line – #6 or #7. Many states use substantial step test – others use the dangerous proximity test.

12. Abandonment defense: People v. Staples. D rented room above bank’s vault and drilled through floor, placing linoleum rug over his work. After rent expired on the room, landlord discovered all of the tools Staples intended to use to rob the vault. D’s conviction upheld.

a. Conduct had passed beyond mere preparation: Drilling into floor and other preparations constituted substantial step toward committing the crime.

b. Staples’ defense is abandonment – he changed his mind. Policy reasons to have abandonment defense:

i. Let people know they’ll be rewarded for not committing the crime

ii. Give individual the free will to change his mind

iii. Retribution – conduct is less blameworthy

iv. We only want to criminalize conduct that is guilty thought plus guilty act – one that you have not backed out of

c. Court rejects the defense because Staples only changed his mind because he knew he would be intercepted.

d. Model Penal Code requires complete and voluntary renunciation. As in Staples, there are very stringent standards for the defense. Under MPC it is a limited defense, although it is a complete defense in some states.

e. Situations where abandonment does not apply:

i. Abandonment based on fear of recovery or apprehension.

ii. Postponement until a more advantageous time.

iii. Malfunctioning of equipment.

iv. Defense looks for a person who abandons plans early on.

13. Impossibility defense: Booth v. State. D attempted to buy a coat that he was told was stolen property. Coat had already been recovered from thief by the police, so technically it was no longer stolen. Court reverses his conviction due to legal impossibility of committing the crime.

a. Under MPC’s substantial step test we can convict Mr. Booth, because he got the coat. MPC states that if D “purposely does or omits to do anything that, under the circumstances as he believes them to be, is an act or omission constituting a substantial step,” then he is guilty of an attempt. Thus, the MPC does not recognize impossibility defense.

b. Cases of legal impossibility cannot be punished, while factual impossibility can.

c. Factual impossibility: Intended substantive crime is impossible because of some physical impossibility unknown to the accused.

i. Attempt to pick an empty pocket

ii. Trying to shoot somebody with an unloaded gun that you believe has bullets

d. Legal impossibility: When there is no “victim,” there is no attempt.

i. Shooting a mannequin, thinking it’s a human being

ii. Hunter attempted to poach a dummy disguised as a deer.

iii. Bribing a person D believes is a juror, but is not.

iv. Shooting person in the head who it turns out was already dead.

B. Complicity
1. Elements of complicity:

a. Community of purpose: Accomplice must be linked in principle with person committing offense

i. Don’t need direct communication of shared purpose. If you can show communication, that gives ground for inference that mens rea existed. But if you can otherwise establish mens rea, you don’t need to show communication.

b. Actus reus (words or conduct) that helps to bring about the crime or render it more likely to happen

i. Mere presence doctrine: Mere presence at a crime is not enough to establish accomplice liability – must be some act beyond mere presence. Kidnapping is a possible exception – D could be operating as a lookout, providing emboldening support (moral support), putting victim in a two against one position. Presence could be sufficient for accomplice liability.

c. Mens rea – Beeman suggests that mere knowledge is insufficient. Need knowledge plus intent to commit, encourage or facilitate.

i. Most states apply a reasonable foreseeability test. A few states have held that the accomplice is liable for the principle’s acts regardless of foreseeability.

d. Not necessary that accomplice be aware of the commission of crime – can be liable if there is a community of purpose

2. Complicity is not a crime in and of itself – instead, D is charged with crime that he is complicit in.

3. Accessories can be convicted even if the principal gets away – can also be convicted of more serious offenses than the principal (i.e. principal can be convicted of second-degree murder, while accessory is convicted of first-degree murder).

4. Jack and Jill hypothetical. Jack and Jill are in a Greyhound bus terminal. An unattended suitcase is in their path. Jill picks it up. A security guard tries to stop them, and they run away. Jill is charged with theft. Can Jack be charged with theft as an accomplice?

a. Arguments for complicity:

i. Running shows consciousness of guilt – Jack knows he did something wrong

ii. Community of purpose in walking toward the bag together

iii. Jack may have instructed her where to run, pushed people out of the way during flight, or there may be information suggesting that they talked about this before taking bag

b. Arguments against complicity:

i. Running doesn’t prove complicity – just a sign of adolescence.

5. State v. Tally. Tally waited at telegraph station until somebody sent telegram to warn decedent of people following to kill him. Tally followed up with another telegram instructing operator not to deliver the previous message.

a. If Tally didn’t encourage activity or cause death, he can still be accomplice to murder:

i. He facilitated a result

ii. He decreased the chance of escape or survival – that alone is enough. He made it easier for Tally’s kinsmen to succeed and can be held liable even if the end probably would have been achieved without the help.

b. Court did not apply but-for analysis because there was an act and a mental state – that is what the idea of guilt is predicated upon, rather than causation. Deterrence and retribution are satisfied as purposes of punishment.

c. The telegraph operator (Huddleston) who fails to warn Mr. Ross should not be charged with murder as an accomplice:

i. He got the telegraph from a judge – probably thought that the telegram is attempting to warn an outlaw, and the four men on horseback are police.

ii. He’s afraid of walking into the middle of a gun battle.

6. Abandonment defense: MPC says D cannot be charged with complicity if he terminates his complicity prior to commission of offense and:

a. wholly deprives it of effectiveness in the commission of the offense, or
b. gives timely warning to law enforcement authorities or otherwise makes proper effort to prevent the commission of the offense.

7. Policy reasons for abandonment defense:

a. Encourage reporting of crime

b. Sucked into crime without abandonment – D has to go through with it if he cannot abandon

8. People v. Beeman. D gives layout of his sister-in-law’s house as well as suggestions to aid robbers. He later claims that he had abandoned the crime and was only trying to pawn his sister-in-law’s jewelry as a ruse – he actually wanted to return it to its rightful owner.

a. He renounced his complicity but took no further steps. Typically that isn’t enough for abandonment.

b. Court reversed because an incorrect instruction was given – it didn’t adequately inform the jury about the intent of aider and abettor. The mens rea requirement in instruction was knowledge, but the court found requirement of knowledge of principal’s purpose coupled with intent to commit the crime, encourage it, or facilitate its commission.

9. Wilson v. People. Wilson assisted burglar to enter store that burglar intended to rob, but Wilson contended that it was only for the purpose of entrapment. Indeed, Wilson called the police after helping burglar enter, and helped police track burglar down to arrest him. Court reverses conviction and remands for new trial due to prejudicial error in jury instructions.

a. Error in jury instruction – it didn’t demand criminal intent on the part of the aider. Instruction by the court made any assistance and perpetration criminal, and removed the intent decision from the jury.

C. Conspiracy
Nature of Conpsiracy
1. Elements of conspiracy:

a. Agreement to commit a crime – you need not produce a signed agreement or taped conversation of the agreement. All of the conspirators need not enter the agreement. You can have constructive agreement, inferred from the actions of alleged co-conspirators.

b. Proof of at least one overt act. Overt act manifests that the conspiracy is at work. Conspiracy establishes the beginning of criminality much further back in the stages of preparation – can be a legal and preparatory act.

i. At common law, no requirement for overt act – only an agreement. Many modern statutes have come to add an overt act requirement. In federal drug conspiracies, no overt act requirement.

ii. In some jurisdictions, proof of the overt act can be dispensed with if there is sufficient proof of the agreement – i.e. if there is a document, need no overt act.

c. Intent to promote the objective of the conspiracy

2. Policy reasons for charging conspiracy as a separate crime:

a. Harder to monitor large group and prevent crimes

b. Other individuals can encourage one person to do what they normally would not (emboldening and encouragement)

c. Groups can be very efficient and do things by division of labor – we want to be sure that we get all the players

3. Unilateral conspiracy: Need not convict all parties of conspiracy in order to convict one party. For example, in Lauria, government may be unable to convince jury that women entered into agreement with Lauria. If government could convince the jury of conspiracy in Lauria’s trial, his conspiracy conviction would stand even though the women are not convicted of conspiracy.

a. Trend is to permit unilateral conspiracy convictions. Traditional view was that you could only have bilateral conspiracy.

4. State v. Verive. Woodall knew Galvin would testify against him. Woodall contacts Verive and offers motorcycle and $900 to beat up Galvin – Verive agrees. Verive then went to Galvin’s home. When he got there, he announced his intent. Then he beat up Glavin. Verive is charged with attempt to dissuade a witness and conspiracy to dissuade a witness, and court upholds both convictions.

a. Verive says that under double-jeopardy, he cannot be punished twice for the same offense (by being charged both with attempt to dissuade a witness and conspiracy to dissuade a witness). If proof of one offense is wholly included in the other, it would be a lesser included offense and the punishment would merge. However, court decides there are different acts to prove the two different crimes – going to the house for conspiracy, and beating up witness for attempt to dissuade.

5. The “D” hypothetical in the context of conspiracy (cf. to attempt hypothetical). 8 steps:

1. D develops animosity towards his enemy and decides to burn enemy’s house

2. D hires A, A agrees to burn house

3. A buys gas, matches, etc.

4. A approaches house, looks around

5. A enters house

6. A shuts off sprinkler system

7. A spreads gas

8. A throws match

For attempt, we need a substantial step (5 at the earliest, maybe 6 or 7). For conspiracy, all we need is an agreement and an overt act (puts us at 3 – we can intervene there and arrest both D and A for conspiracy). Powerful tool for prosecutor to widen the net.

Mens rea of Conspiracy
6. People v. Lauria. Lauria provided an answering service for customers that included known prostitutes.

a. There was an agreement between Lauria and customers who were prostitutes (he provided answering services). Lauria had knowledge of the crime, but did not have an intent for the prostitution to occur.

b. To show that Lauria was complicit in the crime of prostitution, we would need to show that he was advertising or soliciting customers, suggesting that he aided in the offense.

c. However, to prove conspiracy we would only need to show that Lauria actively sought out and encouraged prostitutes to use his business – agreement to utilize services, overt act, and Lauria benefits from it. Could also show that he disproportionately charged prostitutes, or that there is no other legitimate use of his services. Shows that he has a stake in the prostitution.

i. In Lauria, he did not have a stake in it even though one person had an unusual amount of business – her 500 calls doesn’t necessarily entail 500 calls for prostitution.

d. Court says that knowledge isn’t sufficient to convict Lauria, because prostitution is only a misdemeanor.

i. Given aggravated level felonies, there is a greater reason to prevent people from participating in them.

ii. We might impose a burden on D to police his customers if they are committing felonies, but we won’t impose that burden when the offense is a misdemeanor.

7. Distinguishing conspiracy from accomplice liability.

a. For conspiracy, you need to show through some activity that there is an agreement, while you don’t have to show that for accomplice liability. They are totally separate crimes.

b. Even though they don’t merge for purposes of double jeopardy, the evidence of one can be used to prove the other. When you have two or more actors, it is quite easy to charge both with conspiracy.

8. U.S. v. Diaz. Conspiracy to sell drugs. Diaz convicted of using and carrying a firearm in relation to the commission of drug trafficking crimes.

a. Even though Diaz wasn’t carrying the gun, he was found guilty because it was reasonable to assume that some kind of weapon would be carried.

b. Gun offense was part of the continuing conspiracy – carrying the gun furthered the conspiracy and was foreseeable. Absent conspiracy, Diaz would not be liable for the gun offense – could not be charged as an accomplice because he must further the act of carrying the gun, which he did not do.

c. Pinkerton rule. Co-conspirator is liable for all substantive crimes committed:

i. in furtherance of conspiracy, and
ii. within the scope of conspiracy, and
iii. reasonably foreseeable as consequence of the agreement

d. Thus Diaz is guilty of 1) conspiracy to sell drugs and 2) the substantive crime of gun possession.

9. Withdrawal from conspiracy – another way to avoid imputation of crimes. Not as stringent a requirement as in accomplice liability. In accomplice liability, you need to announce abandonment and take steps to prevent the commission of the crime. In conspiracy you don’t need to notify all your co-conspirators, only make known your intent to withdraw. No further action is required.

a. Where there is withdrawal from conspiracy, D is still liable for the crime of conspiracy and any crimes in furtherance committed before the withdrawal.

b. Hypo: If Diaz had withdrawn before the actual drug sale, he would be guilty of conspiracy, but not of selling drugs or possessing the gun.

c. Hypo: There are two instances of selling drugs with the gun, and Diaz is present on the first day but not the second. He would be guilty of conspiracy, selling and gun possession on the first day, but not on the second.

d. Hypo: A and B have counterfeit money scheme. They make one batch of counterfeit money. A is arrested, while B continues the business and recruits other counterfeiters. Should A be liable for B’s subsequent crimes?

i. Argument for: Use Pinkerton rule.

ii. Argument against: Narrowly define scope of the agreement. Agreement was only to make one batch of counterfeit money. If broadly defined, though, even though he’s in jail he can be convicted of conspiracy and those crimes can be imputed to him.

10. Conspiracy/Complicity Hypo.

A is the organizer and ringleader of a conspiracy to rob banks

A hires B and C. B robs bank 1, and C robs bank 2.

Although B and C do not meet face to face, both know that they are members of a large conspiracy and each knows of the other’s assignment

At A’s instigation, D knowing of the conspiracy steals a car for use in the robberies

B and C perform their robberies, B using D’s car

	Party liable
	Conspiracy
	Accomplice theory

	A
	Yes
	Yes

	B (for C’s robbery)
	Yes
	No (no act in assistance)

	D (for C’s robbery)
	Yes (stole car for both robberies, even if it wasn’t used in robbery of bank 2)
	No (no aid or encouragement of that crime)

	D (for B’s robbery)
	Yes
	Yes – car was used

	B (for D’s theft)
	Yes
	No – had nothing to do with theft of car

	C (for D’s theft)
	Yes
	No – same reason as B


11. Evidentiary advantages of conspiracy.

a. Can have joint trials, and discuss the parties in context of the overall conspiracy. If we had a trial alone for D’s theft of car, his behavior seems less culpable than if you had broad conspiracy trial – shows he is involved in something much more serious.

b. Can take advantage of the strong evidence against one to convict the others. There may not be strong proof of instigation against A – but if you had a co-conspirator testify that A was the brains behind the whole thing, it is easier to convict him. You often have testimony against a co-conspirator which strengthens your case against each of the conspirators.

c. Can use statements that would otherwise be excluded as hearsay. Normally prosecution would not be able to offer statement by D2 saying D1 did x. But in conspiracy trial, can bring in D2’s statement even though she doesn’t get on the witness stand.

d. Extends statute of limitations. The statute of limitations for conspiracy is longer than for most felonies – clock starts running from the time of the last overt act. Example: There is conspiracy to rob banks on Nov 29 robbery takes place that day. Proceeds divided on Nov 30 – can extend statute of limitations to charge them with conspiracy on Nov. 30.

12. Single and multiple conspiracies.

a. Example: Supplier of drugs and three sellers (A, B, and C). Can have separate single conspiracies (supplier and A, supplier and B, etc). This is known as a rimless wheel. If you want to make it a wheel with a rim (single conspiracy), would need to establish some connection between the sellers.

b. Evidentiary standard: Knowledge of each other or interdependence. Can show that seller knows or should know of the other sellers’ existence. Alternatively, can suggest there is interdependence – conspiracy is a chain rather than a wheel – supplier, distributor, and seller. Can show that they are all in the same conspiracy because there is interdependence between the players.

13. What prosecutors can charge with. They can charge the substantive crime of conspiracy, as well as the actual completed crime as well (bank robbery) and any of the crimes of the co-conspirators (i.e. theft).

VI. Justification and Excuse
1. Common denominator between the two categories is that the accused can evoke them after the State has proven the act plus requisite mental state of offense. Should be distinguished from defenses like mistaken identification and alibi, where D refutes the state’s proof. These are defenses the accused can advance in favor of her right to claim that she committed the offense but had an excuse.

2. Justification. Occurs when the actor committed the crime but advanced some social interest – i.e. D kills someone who is trying to kill his sibling, or someone who is trying to kill him. The conduct is justified because he’s advancing some social interest. Underlying policy reasons to allow these justifications:

a. No moral culpability for defending your own life

b. Don’t want to deter this behavior – if we deter this behavior individuals might forfeit their right to safety or protection in order to avoid liability

3. Excuse. Occurs when an actor commits the crime but is not morally blameworthy. Paradigmatic excuse defense is insanity – individual is so overcome by mental illness that he could not restrain himself. Underlying policy reasons for excuse defense:

a. Moral culpability – individual not morally culpable because he couldn’t make the choice

b. Can’t deter somebody with no control to begin with

c. Wetmore. In Wetmore, court said you didn’t have to wait until a person has been convicted to introduce evidence that he was unable to form the requisite mental state. If fact-finder had found Wetmore guilty, he could advance insanity defense after being convicted.

4. People v. LaVoie. LaVoie was followed by another car, which rammed into him several times. He got out of the car brandishing his gun, and four men advanced towards him. He shot the one in the lead.

a. LaVoie believed he was in danger of being killed or receiving great bodily injury. Evidence supporting his belief:

i. pushing his car from behind

ii. they cursed at him and advanced threateningly

iii. Four against one

iv. He has a gun and they’re not intimidated

b. Reasonableness issue – we use modified objective standard to determine whether it was reasonable for him to believe that the men intended serious bodily injury. Standard in Young v. People:

i. LaVoie actually believed that harm was imminent (subjective)

ii. Reasonable grounds for that belief (objective)

c. If finder of fact concluded that he killed with honest but unreasonable belief that he was being threatened, the result is mitigation of second-degree murder to manslaughter.

i. Can also get to manslaughter if the response is excessive.

5. State v. Leidholm.

a. Facts: D was a victim of spousal abuse. After a violent night, D’s husband went to sleep and she stabbed him to death. She argued that she acted in self-defense, responding to years of physical abuse and expectations of further abuse. Court instructed jury that self-defense must be based on what a reasonable person, regardless of subjective perceptions, would believe to be imminent danger. D was convicted and appealed.

b. Self-defense test. This court sets out a more subjective standard with regard to the second prong of the self-defense test. Court asks jury to put itself in D’s shoes to determine reasonableness. Battered women’s syndrome can be used to establish that retreat/escape was not an option psychologically available to D. The test is:

(1) Did D believe she was in imminent harm?

(2) Were her acts reasonable given her circumstances and characteristics?

· In this case, jury should look at her size and her specific past experience with him (on that night and the nights before – the kind of abuse that has occurred in the relationship, a learned helplessness)

c. Why shouldn’t the fact that he was sleeping and posed no danger be a bar to self-defense?

· Retreat may not have been an available option – she’s smaller than he is, incapable of resisting him. The only time she may have been able to protect herself is when he was asleep.

· If she had complained to the police, they might not have done anything. She had to do something to protect herself.

d. When aggressor is a cohabitant, you may have a duty to retreat. But if the actor reasonably believes that she could not retreat safely, then she is relieved of her duty to retreat.

e. Why is syndrome evidence relevant at all?

· It goes to her state of mind – the average person will have different experiences than a battered woman.

· Helps a jury that might not otherwise be able to understand her situation – whether or not she had an ability to retreat, whether her perceptions were reasonable.

· Helps us understand the imminence question – a timeframe that might move beyond that night. Helps us understand the reasonableness of her fear.

6. People v. Goetz.

a. Facts: Four teens approach D on a NYC subway and one asks for $5. D, convinced he is about to be robbed, pulls out an unlicensed gun and shoots all four, intending to kill them. He appeals prosecutor’s charge to grand jury that D’s belief that he was in imminent harm must be reasonable.

b. Rule: Jury must still apply objective standard of a reasonable person. To do otherwise would be to allow each individual to set his own standards of permissible use of force. However, a determination of reasonableness must be based on “circumstances” facing a defendant or his “situation.” Background and other relevant characteristics of a particular actor need not be ignored under objective standard.

c. The mixed standard. Standard generally applied is a mixed standard:

(1) Is individual in fear? (subjective analysis)

(2) Was the fear reasonable? (Under LaVoie, it is purely objective. Under Goetz and Leidholm, it is a nuanced objective standard where you take into account their specific situations.)

· If response is unreasonable, it is mitigated from murder to manslaughter.

· If the response is reasonable, it takes the offense from murder to not guilty.

7. Leidholm v. Goetz – similarities and differences

a. Similarities:

· Both of them wanted to claim that they could recognize imminent danger – trying to establish past experiences and psychological make-up as vehicles to determine whether they acted reasonably

· Past experiences. Leidholm says that past experiences help us understand belief that she was in danger. Goetz’s argument is the same with regard to past experiences – he had been injured in a mugging.

b. Differences:

· In Leidholm, one person continually battered, whereas in Goetz it is different people. Leidholm’s impressions likely to be much more valid because Goetz just generalizes.

· Leidholm went to get a weapon, while Goetz already had one – more deliberation on her part.

· Goetz bent on retribution – wanted them dead, while Leidholm was in fear of her life.

